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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)

(i11)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

This question paper comprises five sections —A, B, C, D and E. All questions
are compulsory.
Section A — Questions number 1 to 20 are very short-answer type questions,
carrying 1 mark each. They are required to be answered in one word or one
sentence each.

Section B - Questions number 21 to 24 are short-answer type questions,
carrying 3 marks each. Answers to each of them should not exceed 100 words.

Section C - Questions number 25 to 27 are long-answer type questions,
carrying 8 marks each. Answers to each of them should not exceed 350 words.

Section D — Questions number 28 to 30 are source based questions, carrying
6 marks each.

Section E — Question number 31 is a map question that includes identification
and location of significant test items. Attach the map with the answer-book.
Answers should be brief and to the point also the above word limit be adhered
to as far as possible.

There is no overall choice. However, an internal choice has been provided in
2 questions of one mark, 1 question of three marks, 3 questions of eight marks
and the map question. You have to attempt only one of the choices in such
questions.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A 1x20=20

Why is the Harappan script called enigmatic ?

Choose the correct reason from the following options : 1
(A) It resembles the Hieroglyphic script of Egypt.

(B) It had too many symbols, between 600 and 1000 in number.

(C) It was written from left to right.

(D)  Its writing remains undeciphered to date.

Which of the following scripts were deciphered by James Prinsep ? 1
(A) Bengali and Devanagari

(B) Sanskrit and Prakrit

(C) Brahmi and Kharosthi

(D)  Greek and Indo-Greek

The Buddha’s foster mother, Mahapajapati Gotami was the first woman
to be ordained as a . 1

OR
What was the last message of the Buddha to his followers ?




4. FSWT o LAl § A A AT b <El qT SISl shl @ISl 8 gSeaTanadi h
BN Gae) 37redi o fawa °§ SIHei) I i § fAefafed fagel =1 w9
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(€)Y IuAThiag
(D)  qU-aEfa
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STTh HHl | W D T 2
(A) 13RI
(B) II3R IV
(C) T3 III

(D) IIARIV
7.  TrefaRaa gfem & vgem i 3t 38 sugea wivs i

Ty 4

~



Which group of scholars among the following reconstructed the dietary
practices of Harappa from the remains of charred grains and seeds found
in the Harappan sites ?

(A)  Archeo-Zoologists

(B)  Archeo-Ethnographists

(C)  Geo-Archeologists

(D)  Archeo-Botanists

Which of the following options indicates the sculpture of ‘Empty Seat’ in

the Sanchi Stupa ?

(A)  Decoration of Stupa

(B)  Symbol of human attribute

(C) Meditation of Buddha

(D)  Good fortune

Study the following statements regarding Buddhism carefully :

I Buddhism grew rapidly, both during the lifetime and after the
death of Buddha.

I1. Buddhism did not give much importance to conduct and values.

III. Buddhism appealed to many people who were dissatisfied with the
existing religious practices.

IV.  Buddhism laid much stress on superiority based on birth.

Which of the above statements are correct ?

(A) TandII

(B) ITandIV

(C) TandIII

(D) IIIandIV

Identify the following image and give it an appropriate title :
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9. frffea et 4 @ formes A § TR-gHeHM SO W SR f & om
foam o o 2

(A) 3hal
(B) SN

g

(C) mESIEl
(D) e
10. TS 9T & el # Fefafea weAi 1 graurigds steE hifw
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fepu BT o |
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(A) I, III 3R IV

(B) IL III 3 IV

(C) I, I3 III

D) LII3WIV
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Note: The following question is for the Visually Impaired Candidates only, in
lieu of Q. No. 7 :

Buddha’s teachings have been reconstructed from stories found mainly in
, one of the texts of Tipitaka. 1

8. Given below are two statements, one labelled as Assertion (A) and the
other labelled as Reason (R).

Assertion (A) : Bernier was a firm believer in the virtues of private
property. He saw crown ownership of land in the Mughal
empire as being harmful to both State and the people.

Reason (R): Landlords could not pass on their land to their children,
so they were averse to any long time investment in the
expansion of production.

From the above Assertion and Reason, find out which one of the following

is true : 1

(A)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of

(A).
(C) Both (A) and (R) are false.
(D) Both (A) and (R) are true.

9. During the reign of which of the following rulers was Jizya reimposed on
non-Muslim subjects ? 1

(A) Akbar

(B) Jahangir
(C) Shah Jahan
(D)  Aurangzeb

10. Study the following statements regarding the Mughal empire carefully :

I The Mughal empire comprised of many different ethnic groups and
religious communities.

I1. All the religions had absolute freedom of expression.

III. The emperor stood above all the religions and ethnic groups for
peace and stability.

IV.  The nobility under Mughals also belonged to different religions
and ethnic groups.

Which of the above statements reflects the Sulh-i-kul policy of Akbar ? 1

(A) L IIlandIV

(B) II III and IV

(C) I, IIandIII

(D) LIlandIV
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11.

12.

13.

14.

15.
16.

Who was the Guru of Kabir ?
OR

Name the Lingayat devotee who led a new movement in Karnataka in

the twelfth century. 1

Identify and name the preceptor or Guru of the Sikh community whose

works and contributions are given below : 1

—  He laid the foundation of the Khalsa Panth.
—  He bestowed the Sikhs with five distinct symbols.
— He consolidated the community as a socio-religious and military
force.
— He compiled the compositions of the ninth guru, Guru Tegh
Bahadur in Guru Granth Sahib.
Read the following information given in the box carefully :
Identify and name the devotee of Saguna Bhakti. 1
e She was a Rajput princess from Merta in Marwar.
¢ She was married against her wishes to a prince of the Sisodia clan
of Mewar.
¢ She defied her husband and did not submit to the traditional role
of a wife and mother.
e She considered Lord Krishna as her lover.

Which of the following is not a characteristic of Ibn Battuta’s book,

Rihla ? 1

(A)  This book is written in Persian.

(B) It provides rich and interesting details of the social and cultural
life in the subcontinent.

(C)  This book contains the travel experiences of the author.

(D)  This book is an important source of knowledge.

Andal, a woman Alvar considered herself as the beloved of 1

Consider the following ideas regarding the national language carefully :

I. It should be Hindustani which should neither be Sanskritised
Hindi nor Persianised Urdu, but a blend of both Hindi and Urdu.

I1. It should not admit words from other different languages.

III. The national language must develop into a rich and powerful
instrument, capable of expressing the thoughts and feelings of the
people.

IV. It could unify Hindus and Muslims and people of the North and
the South.

9
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T HIfSY T 37 o=t o @ forehl wgrean et 3 Septerd <t oft 1
(A) L IIARIV

(B) II, III 3R IV

(C) L II3ARIV

(D) 1,11 3ARIII

17. Tr=fafea oM &1 aagrigEs s1eeH HifT

“Gu A 2 TR g Fatfaeht steaEeEeRl % T strered difed el 3R 3=
95d A JhEM TG | 3TR Ic UM o Y TR & feam ma, at o %4t
ol U I TEEEIHI H FUWNG T51 L I | TR 1 9 3% TE § 39
a:na_rnln

I9Yh oA ffaRad § & forge g 2 1
(A) Sf. TR
(B) Y. JATEATA A8®
(C) Tifa—g agw ud
(D) @GR YA
18. 1946 § hiere oM Wi =i o1 2
g okl # & IUga Rl &1 =974 HINT 1

(A) Tyl & st 6t wwifiar =1 fowr @ & faw |
B) fourh T w fgqz iy == &+ fou |

(C) Taad WA o foTu IUerd TSI Toed I o oL |
(D) WA ol TET =R e i o o |

19. T 1946 H UieaW &M gR1 Toa&l Shriamsl foad =ifvd i w1 &I R

T AqT ? 1
20. fsfew wmem & fawg witish g g% fohu U ‘9 ©iel SAcier s dcehlicrs

ST shl T8 HifT | 1

(A)  hfoe fime

B) o faem

(C) @T3HA HHITH

(D) T3S WH
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i
Find out which of these ideas were advocated by Mahatma Gandhi : 1
(A) LIlandIV
(B) IL III and IV
(C) L III and IV
(D) I,II and III
17.  Study the following statement carefully :
“I believe separate electrorates will be suicidal to the minorities and will
do them tremendous harm. If they are isolated for ever, they can never
convert themselves into a majority and the feeling of frustration will
cripple them even from the very beginning.”
Who among the following made the above statement ? 1
(A)  Dr. Ambedkar
(B) Pt. Jawaharlal Nehru
(C)  Govind Ballabh Pant
(D) Sardar Patel
18. Why did the Cabinet Mission come to India in 1946 ?
Choose the suitable reason from the following options : 1
(A) To expand the participation of Britishers in the legislature.
(B) Tointroduce dyarchy at the legislative level.
(C)  To suggest a suitable political framework for free India.
(D) To provide a federal court to the Indians.
19. What was the main reason for announcing ‘Direct Action Day’ by the
Muslim League in August 1946 ? 1
20. Identify the immediate reason of launching the ‘Quit India Movement’ by
Gandhiji against the British rule. 1
(A) Cabinet Mission
(B) Cripps Mission
(C) Simon Commission
(D) Mountbatten Plan
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21.

22,

23.

24.

25.

26.

27.

B
kT

Qs ™ 3Ix4=12
1857 & fogis & o Mot w8l # @ U fhdl dF qiadd $hl o
IR | 3
AT
I 3fgTE o Hedehlal o GIUH Slequl WHd o gl sl e fomiwaret i
@ HIVY | 3
e KT for sra-foedt 3 I8 8 a1 for i sz # gfafgd sfasan 6
STIYTON Sl o Tami & faeg off | 3
Higsiicel % g § faene SEEm S 1= AT S 3 afed T
IR | 3
Tuig hifsre fop efsh 3 fohm TR 1922 T WA Tsgarg =l et feam o | 3
Qe T 8x3=24
600 3.9, ¥ 600 3! % GRA STEVE HaRer % SgER TIaTie gadi 3R
Torarg = fdi 1 av HifsT | 8
AYAT

srenia fagra % ded H Syar i 9ul yawdr % ITey Hadrl H gud
FifSu | 57 fagra =1 aEiifis gem T e, 38 fag 9 & faw semm

i | 4+4=8

mgHaH! fesam @ S8 1ol i ST HIVT 3T ThiT g | fEd 9K

W HiGT o WEwel shi T HIWT | 6+2=8
YA

faeaat afer 3t faemar Ofet it Tamdeyesher i fasmarsti &1 e HifT | 2+6=8

TS TIATeE! oh I[aH Gehi H UGS (TRTEl @NT) o Sfad Sfid 9 adiehl &l

AT hINT | g FATAT o AT W ohE TR Tfdfshan e sl 2 5+3=8
BPE)

3 il o1 qeamhd AT ek stearTa Seiee SraTedt o A geTd

TSHEd gl & 8- @ | 38 fsifewr wmem & faeg fage == fmn 2 5+3=8
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21.

22.

23.

24.

25.

26.

27.

E4E

(5]
SECTION B 3x4=12
Examine any three changes brought into the colonial cities after the
Revolt of 1857. 3
OR
Examine the main features of the towns of South India during the
medieval period of Indian history. 3
Explain how Al-Biruni stated that the concept of social pollution intrinsic
to the caste system was contrary to the laws of nature. 3
Explain with examples the layout design of the Great Bath on the Citadel
in Mohenjodaro. 3
Describe how Gandhiji had transformed Indian Nationalism by 1922. 3
SECTION C 8x3=24
Describe the familial ties and rules of marriage as per the Brahmanical
prescription during c. 600 BCE — 600 CE. 8
OR
Describe the Brahmanical theory regarding kinship and the ideal
occupations of the varna order. Give examples to prove that this theory
was not universally followed. 4+4=8
Explain the rituals associated with Mahanavami Dibba and explain the
significance of Hazara Rama temple located in the Royal Centre. 6+2=8
OR
Explain the architectural features of Vitthala temple and Virupaksha
temple. 2+6=8
Evaluate the way of life of the Paharias (hill folk) during the
late eighteenth century. How did they respond to the coming of the
Santhals ? 5+3=8
OR
Evaluate the circumstances under which the Santhals settled in the
periphery of Rajmahal hills during the nineteenth century. Why did they
revolt against the British rule ? 5+3=8
61112 | 13 - PTO.




28.

29.

B
kT

Qs ¥ 6x3=18

frafefiea | o1 gragrigdes e e i 3ues fi= for 7o et
w%ﬁ@z:

TR o I | T T STTeRTur

375 ¥ efientor % HYes shi fefafad gE=h & T R
Hehe F1GRTE A4 T el qLERIAT & @1 Sl ol aiffehtur fopam R
B (1 i THA) & o tem-srem Teka fulfia e | viowr @'
S 8 fSTom T & 91g Tk & WA Sl AT @l gt 7 i fSE et
Qe T8 VIS A1 8 | Wit 98 s g e | 38 el o fo @t U
4 It 2 qTfeh g8 39T GRfl dTehd 99E 9T Heh | ¥ 98 SH & Sl
I IR TN d @il Wl 8 | o 98 e 3 N W Ui a1 3ud
SIAET AN ° Wl A& I TR B | I8 & YRR I FHE hI A TR g,
=S, AW W @Y | o & e i T & I I WIS od 7, AN
HhT dE e e I A S 8, et uw-fae e v
Yook HHT ST 2 |

(28.1) T=R qfH TH & IR 9 qoh @rell Fi DS At off ?

(28.2) 39 RN o YR hl T HIWT |
(28.3) T AT THSd & b IZ TSED h1 HodTohd H Wl A YR AT ?

e ST | 2

frefafaa a &1 graurigEs sterma i i e fi9 for T gt &
?H{%I'F@'Q:

gt yretor

T gy &7 o fad 99 91l Tk IThE | for
3EY & AN I A SAle dTeft TR A3 WA o1 @ 7. | 399 &
SN G A B... | I TG Gl JUGET T The § fodpd S g | 9 |
foreR I &, 9ot § T S[¢ ST § | Sieehr Siferehit o1 et 8 fh e
Tt aTelt Y HEA 9gd 9t § 3 Ih T STRRE §gh @ |

(29.1) 3 9 1Al ¥ GER K H U o HHA 3T aTell THEIST 6l 90
i |

(29.2) U o Ui 31aY & AT forieft =i 9 2 SHRor it W@ Hifu |

(29.3) 3Tl ° fagifeat =1 gaa fope yebr fomam 2
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SECTION D 6x3=18
28. Study the following source carefully and answer the questions that
follow :
Classification of lands under Akbar
The following is a listing of criteria of classification excerpted from the
Ain :
The Emperor Akbar in his profound sagacity classified the lands
and fixed a different revenue to be paid by each. Polaj is land
which is annually cultivated for each crop in succession and is
never allowed to lie fallow. Parauti is land left out of cultivation for
a time that it may recover its strength. Chachar is land that has
lain fallow for three or four years. Banjar is land uncultivated for
five years and more. Of the first two kinds of land, there are three
classes, good, middling, and bad. They add together the produce of
each sort, and the third of this represents the medium produce,
one-third part of which is exacted as the Royal dues.
(28.1) Why was Chachar land left uncultivated for some three to four
years ? 2
(28.2) Explain the basis of this classification. 2
(28.3) Do you think it was a sound basis to assess the revenue ? Explain. 2
29. Study the following source carefully and answer the questions that
follow :
Villagers as rebels
An officer reporting from rural Awadh (spelt as Oude in the following
account) noted :
The Oude people are gradually pressing down on the line of
communication from the North ... the Oude people are villagers ...
these villagers are nearly intangible to Europeans melting away
before them and collecting again. The Civil Authorities report these
villagers to amount to a very large number of men, with a number
of guns.
(29.1) Examine the problem faced by the British in dealing with these
villagers. 2
(29.2) Why were people of Oude (Awadh) hostile against the British ?
Examine the reason. 2

(29.3) How did the British suppress the rebels ?
612 15
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30. fr=fafea @@ 1 wreurigds serem Hife o 3uss A= for o gwl &
w%ﬁaq:
THTE o AT FT-FT e il o ?
e o faator &1 T 3w fown T R
IS < HEH AR § 8§ $S Acdl i @@ 3R Y A9 h1 6
Hd 7 oET o i | gan o | $9 Y@ T80 § 3Tl % [ B8 9H
e I % JEgR 1 o wtd g d1feh g TH W g B JeE gfd @
Tk | TE SRl RreRTiEl w1 F=TeE w7 SR Rt & we %
YR T 38 S0 1 5 0 & | 9 o Il F 7 3 fy ¥ g3 oeft
=FETEl 1 T A § WY & AhsaN, §g3, WRhl I GIhdist

o1 oft frdveror id § |
(30.1) form 3w o foTw wwTe o sifyentit 6t fgfom <t 18 off 2 2
(30.2) TR grT fohU U I o Yok ohl TIE hHIFVT | 2
(30.3) HHTTNT o 1T bl 1T HTH <hT AT STl off 2 2

Qs &
(vt i u9a) 1x6=6
31. (31.1) WRA % fCU MU THIfdh WA (756 19 W) ¥, F=faRead =t

ST Tagl & 3iferd ShifTT 3R 37 AW fefge 1x3=3

(i) oI — foefad gewTs queerd
(i)  ohiuTE — TR ITTg
FAya
ST — §ilg e
(iii) ST AYET T — Pl b LA T=a
(31.2) WA % 3T ToHITdeh WE@T-HAHET W | TIHET sl A, B 3T C ¥ 3Afeha
fopam T B, S 1857 & fagie @ wEfid & | bl YgEEY 3R 3 Hal

W 3 THehe Wi T {@reTi W fafau | 1x3=3
Fie:  [HElRgd 9T @ad gieatiad qhemdal & 77 ¥, d. 31 F T WE
(31.1) TS 3TMere o feheal 9 gl o 9m fafau | I1x3=3
(31.2) fergi &9 HgATEl & 9 fafigw | I1x3=3
AT
ot i g erere 1 s B | 1x3=3
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30. Study the following source carefully and answer the questions that
follow :
What the king’s officials did
Here is an excerpt from the account of Megasthenes :
Of the great officers of state, some ... superintend the rivers,
measure the land, as is done in Egypt, and inspect the sluices by
which water is let out from the main canals into their branches, so
that every one may have an equal supply of it. The same persons
have charge also of the huntsmen, and are entrusted with the
power of rewarding or punishing them according to their deserts.
They collect the taxes, and superintend the occupations connected
with land; as those of the woodcutters, the carpenters, the
blacksmiths, and the miners.
(30.1) For what purpose were the king’s officials appointed ? 2
(30.2) Explain the types of jobs they carried out. 2
(30.3) What was the need to superintend the work of the workmen ? 2
SECTION E
(Map Based Question) Ix6=6
31. (31.1) On the given political outline map of India (on page 19), locate and
label the following with appropriate symbols : 1x3=3
) Lothal — a mature Harappan site
(i1)  Kaushambi — a pillar inscription
OR
Ajanta — a Buddhist site
(iii) Ajmer OR Agra — a territory under Mughals
(31.2) On the same outline map of India, three places have been marked
as A, B and C, which are associated with the Revolt of 1857.
Identify them and write their correct names on the lines drawn
near them. Ix3=3

Note: The following questions are for the Visually Impaired Candidates, only in
lieu of Q. No. 31 :

(31.1) Name any three centres of the national movement. Ix3=3

(31.2) Name any three Mahajanapadas. Ix3=3
OR

Mention any three Buddhist sites. I1x3=3
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